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« to the multiple-choice questions here. To clearly disting
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Fre ESponse: (40 points...points are listed in Rouanwtomhpmbhﬂ‘ . ‘,;; £
- Youmust show a reasonable amount of work that leads to your answer. Where it s
impossible to show your work, explain the mental lcaps that you made to draw your

conclusion. Where estimation is required, round or truncate all answer to the !
thousandths place. 3

31. Solve V3cscx — 2 = 0 for all possible values of x in the interval [0,2x). (5 points)

ﬁcscx e, - S X = /'e/! —
¢sSCx ':’.2_ S A.,\l'f"' /.x C ',;. 27 ’

3 l

32. Solve tan3x(tanx = 1) = 0 for all possible values of x in the interval 10,2x).
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Vﬁ (7)34. Given sinu = —, cost & - jand that both u and v lie in Quadrant Il Find $in(u - v).
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35, Rewrite cos(arccosx + arcsinx) as an algebraic expression (no trigonometric
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